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IS 4 AIEIEAZE (H25.2.18)
FEMSE | ZRIS | EOE #3549 | TR LA TN . e e | BIEIEDZE | TISAET
Rl IS FE X &E— g
Om 16.04 16.60 16.60 16.16 16.41 13.96 2.45 16.21
2m 16.25 16.60 16.70 16.50 16.52 14.08 2.44 16.69
5m 16.27 16.56 16.79 16.64 16.54 14.16 2.38 16.71
10m 16.19 16.61 16.79 16.65 16.53 14.24 2.29 -
| B-1m 16.03 16.44 16.98 16.67 16.48 — — 16.67
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T 1S AIEEAE (H25.2.18)
FEMSE | ZRIS | EOE #3549 |TROT LA TN . e e | BIEIEDZE | TISAET
L] HIGFE X &E— g
Om 33.11 3357 32.15 28.65 3294 33.44 A 050 17.72
2m 33.34 33.58 33.48 30.58 33.47 33.61 A 0.14 32.88
5m 33.48 33.59 33.68 33.51 33.58 33.67 A 009 33.45
10m 3351 33.67 33.73 33.70 33.64 33.71 A 007 -
| B-1m 33.53 33.76 33.87 33.77 33.72 — — 33.65
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& e AIEIFE & (H25.2.18)
FEMSE | 2RI | EOE #3549 | TR LA TEN] e e | BIEIEDZE | TISAET
1Al RGN &E— g
Om 7.36 7.32 7.74 8.11 7.47 8.15 A 068 8.57
2m 7.21 715 7.45 7.96 7.27 7.91 A 064 7.68
5m 7.05 7.07 7.34 7.68 7.15 7.82 A 066 7.45
10m 6.93 7.04 7.35 7.48 7.1 7.74 A 063 -
B-1m 6.64 5.72 7.45 6.89 6.60 — — 7.27]
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IKiE 17.5 24.9 16.1 17.5 9.6 100cells/ml (BEEL D E1L)
| FEEE 5.5 6.1 49 1.8 1.9 O3 A I LTT:
| 57 [0 BA - - - - - 10cells/mI (B DHZEL)
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2% IS MIRTAFL | ARFILL | Y94 T
Om 0 0 2 1 0 34
EEJA 2m 0 0 p) 1 3 50
5m 0 0 3 0 0 155
Om 0 3 1 2 0 132
ENE 2m 0 1 3 0 0 110
5m 0 0 1 1 0 104
Om 0 0 1 0 0 96
139 2m 1 3 0 0 0 124
5m 0 1 3 0 0 62
bt Om 0 0 2 1 0 140
# ”*f,g?ﬂf 2 om 0 1 2 1 0 176
i 5m 0 0 5 0 0 52
Om 0 0 2 0 0 22
k= L[] 2m 0 0 4 1 0 40
5m 1 0 1 1 0 12




